64(A) UG-III/Eco-VI(H)/21 c) Whatis meant by a tax?
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2. Answer any four of the following questions:
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Full Marks : 100 Time : 4 Hours a)  Whatis CENVAT?

The figures in the right-hand margin indicate marks.

?
Candidates are required to give their answers in CENVAT SI( 07 2

their own words as far as practicable. b)  What do you mean by Progressive Tax?

lllustrate the answer wherever necessary.
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Answer all the questions.
c)  What do you mean by market failure?
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GROUP-A
d) State two advantages of indirect tax.
e+
(Marks : 50) ATAF® I Y10 AR @14 |
(319 : o) e) What do you mean by public budget?
1. Answer any two questions: 1x2=2 AT ANSH TS F @™ e
@-CIT! f 20as T 7S 8 f)  What is public debt?
a) Illustrate one uses of 'Benefit tax'. A A T2
RIS FEF 43 FRIE Tl wie | g)  Give two examples of 'Merit good'.
b)  What is public good? ‘W5’ wera uft Srizge we |
A w1 e
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64(A)

Answer any two questions: 5%x2=10
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a)

b)

d)

Discuss the effects of public debt.
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Examine the relative merit, of income tax and

expenditure tax.

RF @ IR o] geages [Kose
<4

What is meant by voluntary exchange
principle?

@it e s =1e T @RI

Examine the effect of income tax on savings.
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Answer any two of the following questions:

15%x2=30
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a)

b)

Discuss the causes and need for government

intervention in an economy.
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Critically evaluate the 'Benefit Principle' of

Taxation.
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d)
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Briefly examine the concepts of 'Built in
flexibility' and 'Formula flexibility' as

measures of stabilisation policy.

45 SR RfeMers! 7F 19 (F0a 'Built
in flexibility' €<% 'Formula flexibility' g 41
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What do you mean by the term 'Incidence of
taxation'? Explain in this connection the

principal determinants of Incidence process.
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GROUP-B
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Answer any two questions: 1x2=2
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a)

What is debenture?
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b)  What is current ratio? 7.  Answer any three of the following questions:

current ratio & ¢ 6x3=18
c) What is bond? (- (PNl fonfo 2vsi Tex wte ¢
Yojoiq fF 2 a)  What are the characteristics of a bond?
6.  Answer any five of the following questions: T e T
2x5=10 b)  What do you mean by Ratio Analysis?
- (PICeT! A6 2lrea Ted WS ¢ e oiifes KT (Analysis) T & @RI 2
a)  Define mutual fund. c)  What are the merits of a partnership farm?
TSR FICTF K& 7€ | 936 SAmIE Aiffens wkgR AR 5
b)  What is derivatives? d) Derive the formula for present value of an
Derivatives & ? annuity.
¢)  What do you mean by Put option? ;ﬁﬁs e (annuity) 3 ST 0T 4 fef

Put option &7 & (IR 2
e) What is meant by Price-Earning (P/E) ratio?
d) Define Pension Fund. .
Explain.

Pension Fund-4s e[ wI¢ | WIS (1% (Price-Earning) Sj=i® {35 2 712y 54 |

. o
¢)  Whatis annuity’ 8.  Answer any two of the following questions:

I 3fe (Annuity) 52 10x2=20
f)  What is Debt-Service ratio? @I ufb 0T T MG ¢

Debt-Service ratio &2 a)  Explain briefly Capital Asset Pricing Model.
g)  What is meant by corporation? Capital Asset Pricing SCSeTb AL 10 5 |

Rfsam (@2 AE! (corporation) IS ¢ (IR 2
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How many different types of stocks are there?

What are the differences between them?
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Briefly discuss the derivative market in India.
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